THE UNITARY ANALOGUES OF SOME IDENTITIES FOR CERTAIN ARITHMETICAL FUNCTIONS

$\mathbf{B}\mathbf{Y}$

H. JAGER

(Communicated by Prof. J. POPKEN at the meeting of June 24, 1961)

§ 1. Introduction

If d is a divisor of the positive integer n (notation: d/n) and (d, n/d) = 1 we say that d is a *unitary divisor* of n; notation: d/(n); for instance we have always 1/(n) and n/(n).

Definition. The unitary convolution h(n) of two arithmetical functions f(n) and g(n) is defined by

$$h(n) = \sum_{d//n} f(d) g\left(\frac{n}{d}\right);$$

notation: $h(n) = (f \circ g)(n)$.

Now it is easy to introduce by means of this unitary convolution new arithmetical functions which may be regarded as the *unitary analogues* of well-known functions such as Möbius' function $\mu(n)$, Euler's function $\varphi(n)$ and others. For example, it is possible to define the functions $\mu(n)$ and $\varphi(n)$ by means of the formulas:

$$\sum_{d\mid n} \mu(d) = egin{cases} 1 & ext{if} \quad n=1 \ 0 & ext{if} \quad n>1 \ , \ & \ arphi(n) = \sum_{d\mid n} \mu(d) \, rac{n}{d} \, . \end{cases}$$

Similarly, we now define their unitary analogues $\mu^*(n)$ and $\varphi^*(n)$ by

$$\sum_{d//n}\mu^*(d)=egin{cases} 1 & ext{if} \quad n=1\ 0 & ext{if} \quad n>1 \ , \ arphi^*(n)=\sum_{d//n}\mu^*(d)rac{n}{d}. \end{cases}$$

In § 3 we shall derive some relations between these unitary functions, while in § 2 we shall develop the theory for the corresponding ordinary arithmetical functions.

§ 2. Relations, derived by means of the Dirichlet-product

If we introduce in the set Ω of all arithmetical functions the operations +, defined by

$$(f+g)(n) = f(n) + g(n)$$

and *, defined by

$$(f * g)(n) = \sum_{d|n} f(d) g\left(\frac{n}{d}\right),$$

(the latter being the so-called convolution or Dirichlet-product), we get a domain of integrity in which the law of the unique factorization into primes holds [2], p. 982–985. The multiplicative group of units is formed by the functions f(n) with $f(1) \neq 0$; of this group the multiplicative functions (except the function which is identical zero) form a subgroup.

This algebraic structure in Ω furnishes us a method to introduce new arithmetical functions as generalizations of classical functions [2], p. 978–979 and of proving known formulas in a very simple way. We may give a few examples.

Defining the functions e(n) and $I_{\alpha}(n)$ by

$$e(n) = \begin{cases} 1 & ext{if } n = 1 \\ 0 & ext{if } n > 1 \end{cases}$$

(i.e. e(n) is the unit-element in Ω),

$$I_{\alpha}(n) = n^{\alpha}, \alpha$$
 real

and writing $\frac{e}{f}(n)$ for the inverse of the (unit-)function f(n), we have the well-known formulas (compare § 1)

$$\mu(n) = \frac{e}{\overline{I_0}}(n),$$
$$\varphi(n) = (\mu * I_1)(n).$$

We now define the function $\varphi_{\alpha}(n)$ by

$$\varphi_{\alpha}(n) = (\mu * I_{\alpha})(n),$$

hence

$$(I_0 * \varphi_{\alpha})(n) = I_{\alpha}(n).$$

Since $\mu(n)$ and $I_{\alpha}(n)$ are both multiplicative, $\varphi_{\alpha}(n)$ is multiplicative¹). From the definition of $\varphi_{\alpha}(n)$ we see that

$$\varphi_{\alpha}(p^{k}) = \mu(1)p^{\alpha k} + \mu(p)p^{\alpha(k-1)} + \mu(p^{2})p^{\alpha(k-2)} + \dots + \mu(p^{k}) = p^{\alpha k} - p^{\alpha(k-1)}$$

1) More precisely: $\varphi_{\alpha}(mn) = \varphi_{\alpha}(m) \varphi_{\alpha}(n) \frac{(m,n)^{\alpha}}{\varphi_{\alpha}((m,n))}$, $\alpha \neq 0$ which follows from [1], theorem 3.

33 Series A

510

and hence

$$\varphi_{lpha}(n) = n^{lpha} \prod_{p/n} \left(1 - \frac{1}{p^{lpha}}\right).$$

The functions $\varphi_{\alpha}(n)$ occur in the literature for various values of α . If we put $\alpha = 2, 3, 4, \ldots$ we have $\varphi_{\alpha}(n) = J_{\alpha}(n)$, where $J_{\alpha}(n)$ denotes Jordan's totient-function of order α . As an example of a negative value of α we mention a result of CESÀRO, see e.g. [4], p. 128:

$$\det |\{\mu, \nu\}|_{\substack{\mu=1,2,\ldots,n\\\nu=1,2,\ldots,n}} = (n!)^2 \varphi_{-1}(1) \varphi_{-1}(2) \dots \varphi_{-1}(n),$$

where $\{\mu, \nu\} = 1.c.m.$ of μ and ν .

In the sequel $\frac{g}{f}(n)$ denotes the convolution product of g(n) and the inverse of an unit f(n); hence $\left(f*\frac{g}{f}\right)(n)=g(n)$.

Theorem 1. Let $\{N_{\alpha}(n)\}$, α real, be a set of completely multiplicative arithmetical functions not containing the zero-function, such that $N_{\alpha}(n) \cdot N_{\beta}(n) = N_{\alpha+\beta}(n)$ and let $\psi_{\alpha}(n) = (\mu * N_{\alpha})(n)$.

Then

$$\frac{N_{\alpha}}{\overline{N_{\beta}}}(n) = \psi_{\alpha-\beta}(n)N_{\beta}(n).$$

مر ۲

Proof.

$$\begin{split} & (N_{\beta} * \psi_{\alpha-\beta} N_{\beta})(n) = \sum_{d/n} \psi_{\alpha-\beta} \binom{n}{d} N_{\beta} \binom{n}{d} N_{\beta}(d) = \\ & N_{\beta}(n) \left(I_{0} * \psi_{\alpha-\beta} \right)(n) = N_{\beta}(n) \cdot N_{\alpha-\beta}(n) = N_{\alpha}(n). \end{split}$$

From the definition of $\varphi_{\alpha}(n)$ it follows that $\frac{\varphi_{\alpha}}{\overline{\varphi_{\beta}}}(n) = \frac{I_{\alpha}}{\overline{I_{\beta}}}(n)$; if we now take $N_{\alpha}(n) = I_{\alpha}(n)$ in theorem 1, we get:

Corollary 1.

$$\frac{\varphi_{\alpha}}{\overline{\varphi_{\beta}}}(n) = \varphi_{\alpha-\beta}(n) \cdot I_{\beta}(n).$$

For $\alpha, \beta, \alpha - \beta = 1, 2, 3, ...$, this is a well-known result of Gegenbauer for the Jordan's functions, see e.g. [4], p. 149.

Corollary 2. If we define as usual $\sigma_{\alpha}(n) = \sum_{d/n} d^{\alpha} = (I_0 * I_{\alpha})(n)$ we have $\frac{\overline{\sigma}_{\alpha}}{\overline{\sigma}_{\beta}}(n) = \varphi_{\alpha-\beta}(n) \cdot I_{\beta}(n).$

For $\alpha = 2, 3, ...$ and $\beta = \alpha - 1$ this was proved by NEGOES, see [5]. The

functions $\varphi_{\alpha}(n)$ occur also in the following result of THACKER, see e.g. [4], p. 140:

Theorem 2. Let $r_1, r_2, ..., r_{\varphi(n)}$ denote the $\varphi(n)$ positive integers $\leq n$ and prime to n; then for k=0, 1, 2, ...

$$r_{1}^{k} + r_{2}^{k} + \dots + r_{\varphi(n)}^{k} = n^{k} \left\{ \frac{1}{k+1} \varphi(n) - c_{0,k} e(n) + c_{1,k} \varphi_{-1}(n) + c_{3,k} \varphi_{-3}(n) + c_{5,k} \varphi_{-5}(n) + \dots \right\}$$

where

$$c_{l,k} = rac{1}{l+1} inom{k}{l} B_{l+1} ext{ if } k > l, \ c_{l,k} = 0 ext{ if } k \! < \! l;$$

as usual $B_1, B_2, B_3, B_4, B_5, B_6, \dots$ denote the Bernoullian numbers $-\frac{1}{2}, \frac{1}{6}, 0, -\frac{1}{30}, 0, \frac{1}{42}, \dots, 2$).

Proof. Defining $\Phi_k(n)$ by $\Phi_k(n) = r_1^k + r_2^k + \ldots + r_{\varphi(n)}^k$, $k = 0, 1, \ldots$, we have

$$(\varPhi_k * I_k)(n) = \sum_{d|n} d^k \varPhi_k \left(\frac{n}{d}\right) = \sum_{d|n} \sum_{(\nu, n/d) = 1} \nu^k = \sum_{\nu=1}^n \nu^k = \frac{1}{k+1} I_{k+1}(n) - c_{0,k} I_k(n) + c_{1,k} I_{k-1}(n) + c_{3,k} I_{k-3}(n) + \dots$$

Thus

$$\Phi_{k}(n) = \frac{1}{k+1} \frac{I_{k+1}}{I_{k}}(n) - c_{0,k} \frac{I_{k}}{I_{k}}(n) + c_{1,k} \frac{I_{k-1}}{I_{k}}(n) + c_{3,k} \frac{I_{k-3}}{I_{k}}(n) + \dots$$

and hence, it follows from theorem 1, putting $N_{\alpha}(n) = I_{\alpha}(n)$:

$$\Phi_k(n) = n^k \left\{ \frac{1}{k+1} \varphi(n) - c_{0,k} e(n) + c_{1,k} \varphi_{-1}(n) + c_{3,k} \varphi_{-3}(n) + \ldots \right\}.$$

§ 3. Some unitary analogues

Lemma 1. If b/|a and c/|b then c/|a.

Proof. $a=b\beta$, $(b,\beta)=1$ and $b=c\gamma$, $(c,\gamma)=1$. Since c is a divisor of b we have $(c,\beta)=1$ and thus $(c,\beta\gamma)=1$; hence, putting $\beta\gamma=\alpha$, we have $a=c\alpha$, $(c,\alpha)=1$, which proves the lemma.

Definition. Let n and m be two positive integers,

$$n = \prod_{\varrho=1}^r p_{\varrho}^{\alpha_{\varrho}} \text{ and } m = \prod_{\varrho=1}^r p_{\varrho}^{\beta_{\varrho}}, \ \alpha_{\varrho}, \beta_{\varrho} \ge 0,$$

with $p_1, p_2, ..., p_r$ different prime-numbers; then we define

$$[n,m] = \prod_{\varrho=1}^r p_{\varrho}^{\delta(\alpha_{\varrho},\beta_{\varrho})},$$

²) In this form the Bernoullian numbers can be defined symbolically by $B_0 = 1, B_n = (1 + B)^n, n > 1$, if we put $B^n = B_n$.

512

where

$$\delta(\alpha,\beta) = \begin{cases} 0 & \text{if } \alpha \neq \beta \\ \alpha & \text{if } \alpha = \beta \end{cases}$$

It is clear that [n, m] is a unitary divisor of n and of m and that [n, m] is the largest number with this property.

Lemma 2. $a/\!\!/[b, c]$ if and only if $a/\!\!/b$ and $a/\!\!/c$.

Proof. Let $a/\!/b$ and $a/\!/c$; then $a\beta = b$, $(a, \beta) = 1$ and $a\gamma = c$, $(a, \gamma) = 1$. From this it follows that $[b, c] = a[\beta, \gamma]$, $(a, [\beta, \gamma]) = 1$ and thus $a/\!/[b, c]$. Conversely, $a/\!/[b, c]/\!/b$ implies $a/\!/b$; similarly, $a/\!/c$.

Theorem 3. With the ordinary addition + as additive operation and the unitary convolution \circ as multiplicative operation, the set Ω of all arithmetical functions forms a commutative ring with unit-element.

The unit-element is again the function

$$e(n) = \left\{ \begin{array}{ccc} 1 & \mathrm{if} & n=1 \\ 0 & \mathrm{if} & n>1 \end{array} \right.$$

The proof is very simple. We only check the associative law for the multiplicative operation:

$$((f \circ g) \circ h)(n) = \sum_{\substack{dd'''=n \\ (d,d''')=1}} \sum_{\substack{d'd'''=d \\ (d',d'')=1}} f(d')g(d'')h(d''') = \sum_{d'd''d'''=n} f(d')g(d'')h(d'''),$$

where the dash in the summation-sign indicates that we sum only over the triples (d', d'', d''') with (d', d'') = 1, (d'd'', d''') = 1. This condition, however, is equivalent to (d', d'') = (d'', d''') = (d''', d'') = 1 and since this is symmetric in d', d'', d''', the associative law follows.

Again the group of units is formed by the functions f(n) with $f(1) \neq 0$. Of this group the multiplicative functions (except the zero-function) form a subgroup ([3], lemma 6.1).

If f(n) is a unit, its inverse is denoted by $\frac{e}{t}(n)$.

It is easily seen that Ω contains zero-divisors, hence with the above operations Ω does not form a domain of integrity.

We now introduce the unitary analogues of some ordinary arithmetical functions:

$$\mu^{*}(n) = \frac{e}{I_{0}}(n),$$

$$\varphi_{\alpha}^{*}(n) = (\mu^{*} \circ I_{\alpha})(n)^{3})$$

$$\sigma_{\alpha}^{*}(n) = (I_{0} \circ I_{\alpha})(n), \text{ especially}$$

$$\sigma_{0}^{*}(n) = \tau^{*}(n), \text{ the number of unitary divisors of } n.$$

³) In the sequel $\varphi_1^*(n)$ will be denoted by $\varphi^*(n)$.

Theorem 4. If $n = \prod_{\varrho=1}^{r} p_{\varrho}^{l_{\varrho}}, l_{\varrho} > 0$, then $u^{*}(1) = 1, u^{*}(n) = (-1)^{r}, n > 1$:

$$\mu^{*}(1) = 1, \ \mu^{*}(n) = (-1)^{r}, \ n \ge 1,
\varphi_{\alpha}^{*}(1) = 1, \ \varphi_{\alpha}^{*}(n) = n^{\alpha} \prod_{\varrho=1}^{r} \left(1 - \frac{1}{p_{\varrho}^{\alpha l_{\varrho}}}\right), \ n > 1;
\sigma_{\alpha}^{*}(1) = 1, \ \sigma_{\alpha}^{*}(n) = n^{\alpha} \prod_{\varrho=1}^{r} \left(1 + \frac{1}{p_{\varrho}^{\alpha l_{\varrho}}}\right), \ n > 1;$$

especially

$$\tau^*(n) = 2^r, n > 1.$$

Proof. All the functions are multiplicative, so we have only to evaluate $\mu^*(p^k)$, $\varphi_{\alpha}^*(p^k)$, $\sigma_{\alpha}^*(p^k)$, k > 0.

$$\begin{split} & \mu^*(p^k) I_0(1) + \mu^*(1) I_0(p^k) = 0, \text{ hence } \mu^*(p^k) = -1. \\ & \varphi_{\alpha}^*(p^k) = \mu^*(p^k) I_{\alpha}(1) + \mu^*(1) I_{\alpha}(p^k) = -1 + p^{\alpha k}. \\ & \sigma_{\alpha}^*(p^k) = I_0(p^k) I_{\alpha}(1) + I_0(1) I_{\alpha}(p^k) = 1 + p^{\alpha k}. \end{split}$$

Theorem 5. Let $\{a_n\}_{n=1}^{\infty}$ be an arbitrary sequence of real or complex numbers and let A_n be defined by

$$A_n = \sum_{d \mid / n} a_d, \ n = 1, 2, \dots$$

Then

$$\det |A_{[\mu,\nu]}|_{\substack{\mu=1,2,\ldots,n\\\nu=1,2,\ldots,n}} = a_1 \cdot a_2 \cdot \ldots \cdot a_n.$$

Proof. If X is the matrix $\{b_{\mu\nu}\}_{\substack{\mu=1,...,n\\\nu=1,...,n}}$ with

$$b_{\mu
u} = \left\{ egin{array}{ccc} 1 & ext{if} &
u/\!\!/\mu \ 0 & ext{otherwise} \end{array}
ight.$$

and Y is the matrix $\{a_{\nu}b_{\mu\nu}\}_{\substack{\mu=1,\ldots,n\\ \nu=1,\ldots,n}}$, then clearly det X = 1 and det $Y = a_1a_2...a_n$. For the general element $c_{\mu\nu}$ of the matrix XY^T we have on the other hand

$$c_{\mu\nu} = \sum_{\lambda=1}^{n} b_{\mu\lambda} a_{\lambda} b_{\nu\lambda} = \sum_{\substack{\lambda=1\\\lambda/|\mu\\\lambda/|\nu}}^{n} a_{\lambda} = \sum_{\lambda//[\mu,\nu]}^{n} a_{\lambda},$$

in view of lemma 2. Hence $c_{\mu\nu} = A_{[\mu,\nu]}$ and therefore

$$\det |A_{[\mu,\nu]}| = \det X \cdot \det Y = a_1 a_2 \dots a_n.$$

From the definition of $\varphi^*(n)$ it follows immediately

$$(I_0 \circ \varphi^*)(n) = (I_0 \circ \mu^* \circ I_1)(n) = I_1(n),$$

hence $\sum_{d/n} \varphi^*(d) = n$. In this way we obtain the following

514

Corollary of theorem 5.

 $\begin{vmatrix} [1, 1], [1, 2], \dots, [1, n] \\ [2, 1], [2, 2], \dots, [2, n] \\ \vdots & \vdots & \vdots & \vdots \\ [n, 1], [n, 2], \dots, [n, n] \end{vmatrix} = \varphi^*(1)\varphi^*(2) \dots \varphi^*(n).$

This is the unitary analogue of the determinant of SMITH:

$$\begin{vmatrix} (1, 1), (1, 2), \dots, (1, n) \\ (2, 1), (2, 2), \dots, (2, n) \\ \cdot & \cdot & \cdot & \cdot \\ (n, 1), (n, 2), \dots, (n, n) \end{vmatrix} = \varphi(1) \varphi(2) \dots \varphi(n),$$

see e.g. [6], VIII, Aufgabe 57.

Theorem 6. Let $\{N_{\alpha}(n)\}$, α real, be a set of multiplicative functions, not containing the zero-function, such that

$$N_{lpha}(n) \cdot N_{eta}(n) = N_{lpha+eta}(n), ext{ and let } \psi_{lpha}(n) = (\mu^* \circ N_{lpha})(n).$$

Then

$$\frac{N_{\alpha}}{N_{\beta}}(n) = \psi_{\alpha-\beta}(n) \cdot N_{\beta}(n).$$

The proof is similar to the one of theorem 1 and is omitted. Note that here the function $N_{\alpha}(n)$ need not be completely multiplicative.

Corollary.

$$\frac{\varphi_{\alpha}^{*}}{\varphi_{\beta}^{*}}(n) = \varphi_{\alpha-\beta}^{*}(n) \cdot I_{\beta}(n), \quad \cdots$$

the analogue of the extension of Gegenbauer's relation.

Following COHEN [3], we denote by $(a, n)_*$ the largest divisor of a which is unitary divisor of n. The positive integers $a \le n$ with $(a, n)_* = 1$ form the so-called semi-reduced system mod n. Now by a well-known argument of SYLVESTER, see e.g. [6], VIII, Aufgabe 21, we see that if $n = \prod_{\varrho=1}^{r} p_{\varrho^{\varrho}}^{l_{\varrho}}$, the number of elements of the semi-reduced system is exactly $n = \frac{n}{\varrho - 1} = \frac{n}{2} - \frac{n}{2} - \frac{n}{2} + \frac{n}{2} + \dots = n \prod_{\varrho=1}^{r} \left(1 - \frac{1}{2}\right) = a^*(n).$

$$n - \frac{n}{p_1^{l_1}} - \frac{n}{p_2^{l_2}} - \ldots + \frac{n}{p_1^{l_1} p_2^{l_2}} + \ldots = n \prod_{\varrho=1} \left(1 - \frac{1}{p_{\varrho}^{l_\varrho}} \right) = \varphi^*(n).$$

Theorem 7. Let $r_1, r_2, ..., r_{\varphi^*(n)}$ denote the elements of the semireduced system mod n. Then

$$r_{1}^{k} + r_{2}^{k} + \ldots + r_{\varphi^{*}(n)}^{k} = n^{k} \left\{ \frac{1}{k+1} \varphi^{*}(n) + \frac{1}{2}e(n) + c_{1,k} \varphi^{*}_{-1}(n) + c_{3,k} \varphi^{*}_{-3}(n) + \ldots \right\},$$

$$k = 0, 1, 2, \ldots$$

Again the proof can be omitted, since it runs similarly to that of theorem 2.

Mathematisch Instituut University of Amsterdam

REFERENCES

- 1. ANDERSON, D. R. and T. M. APOSTOL, The evaluation of Ramanujan's sum and generalizations, Duke Mathem. J., 20, 211-216 (1953).
- 2. CASHWELL, E. D. and C. J. EVERETT, The ring of number-theoretic functions, Pacific J. of Math., 9, 975-985 (1959).
- 3. COHEN, E., Arithmetical functions associated with the unitary divisors of an integer, Math. Zeitschr., 74, 66-80 (1960).
- 4. DICKSON, L. E., History of the theory of numbers, Vol. 1, New York, 1918.
- 5. NEGOES, N. C., Sur la fonction $\sigma_k(n)$. Lucrăr. Ști. Inst. Ped. Timișoara Mat. Fiz. (1958).
- 6. PÓLVA, G. and G. SZEGÖ, Aufgaben und Lehrsätze aus der Analysis, 2. Aufl., Band II, Berlin-Göttingen-Heidelberg 1954.